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- Unit 10 Study Guide
Area & Perimeter
Fird the area and perimeter of each shape belpw, Use the m biriton on your calcilator, Round your
answer fo the nearest hundreding piace. C=1rd ) b
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For each find the valume. Find the suwrface area of 3. Uise the m bution on your calculator. Rownd your
answer g the mearest huhdradihs place.
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7.) —2 is which of the following:

a) Natural b) Whole @teg-;er d) -HatiDnEl;\'"E} Imﬂnnal@
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8.) —= is which of the following:

a) Natural b) Whole ¢} Integer G‘;R‘atinﬁi' e) lrational ijaa?}

9.) 5 is which of the following:
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10.) 0 is which of the following:
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11.) 5.32 is which of the following:
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12.) ¥3 is which of the following:

a) Natural b) Whele ¢ Integer  d) Rational r'giTrraﬁuna};/ HREEl
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20.) If 18 apples cost 54.68, compute cost per aprpli,____l
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21.) If 23 pears cost $23.92, compute cost per pear.
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22.) Graph: y =—&xr+4 23.) Graph: y = lx-2

24.) Graph: y = %:r +1 25.) Graph: y =- -_-5:-.1.' =2




